81.

A E 2009 A

PHYSICS

When a wave traverses a medium, the displacement of a particle located at ‘x’
at a time ¢ is given by y = a sin (bt — ¢x), where a, b and ¢ are constants of

the wave, which of the following is a quantity with dimensions ?

LY ErJIsed” Stodo FardodSHE, wwo T SE % Fdo 5& Ho Fod
FEWordy y = a sin (bt — cx) 8 SrDoISW). 5o&HE®, a, b Hbak ¢ &
-]

E8o8 ﬁgmomgé. 808 o8E° der Ko ooR?

(1)  yla (2) bt

(3) ex (\dy)/b/c

82,

A body is projected vertically upwards at time ¢ = 0 and it is seen at a height
‘H' at time ¢, and ¢, seconds during its flight. The maximum height attained
is (g is acceleration due to gravity)
oot =088 wff SHPHSH wdewHre 28 (S0 IvSHE, @ |Sosemod™

o t) DB fh DESHe S8 28 H J& 50008 oond & SWH ol

568 o : (g 08y Se8wmo)

2
@) gty +to)
8 4

m/g(f.l + t2)2 (4) gty — )P

8 4
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83. A particle is projected up from a point at an angle 6 with the horizontal direction.

At any time ¢, if p is the linear momentum, y is the vertical displacement, ‘%’
is horizontal displacement, the graph among the following which does not represent

the variation of kinetic energy ‘K’ of the particle is :

L8 Dot S8 ol §8z Jdrody HY¥E" 0 %m0 Thwewrr wl Yordy
28 (8850 BHaeH. Jsewo P S8 3 p D ddat Esgao ©d, y O Jdeny
FE¥SH, W §8s Sdrosd FIWUHD N0, DI IredS (PP,

S s ¥8 K Seedndh Srlodd o :

k k ] ]
— ¥ —> 1 — X "—)Pz

© )
\1/ Graph @) (% @) (2) Graph (% @)

(3) Graph © (=% ©) (4) Graph @ (=% ©)

84. A motor of power P is used to deliver water at a certain rate through a given
horizontal pipe. To increase the rate of flow of water through the same pipe n

times, the power of the motor is increased to Py. The ratio of P; to P is :

F&dgo Py o of Irad §8s Sirodd fPwo oo w¥ J0% Jwns®
&

Hed Sowi0b. 1A, ﬁ‘%o @eeoe S8 |SarSe) Tewdh n Begi&) 2oBIBS0D,
Soeerdh EP&JG:gEU& P, & 20388 eowd Py, Pg & do A% :

1) n:1 @2 n?:1
(ﬂ/na:l 4 nt:1
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85. A body of mass 5 kg makes an elastic collision with another body at rest and
continues to move in the original direction after collision with a velocity equal
to ll—oth of its original velocity. Then the mass of the second body is :
ES5ge8 b kg Ho of SHp MHo LB afy HO°Y SHHe® beIuy
odirdo 3D, &5 &°0IKos® %ss SohKo K08 &9 &¥E*I Idovwo
EPIFNR0S. wond Todd S Yy |SSgoeR

ou/ 4.09 kg 2 05 kg

3) b kg (4) 5.09 kg

86. A particle of mass 4 m explodes into three pieces of masses m, m and 2 m. The
equal masses move along X- and Y-axes with velocities 4 ms™ and 6 ms™

respectively. The magnitude of the velocity of the heavier mass is :

883078 4 m Ko o Swo, ESgoriies, m, m HBA 2m Ko So¥)erw, Z)@*’a&séo

g9, DEADK08. JSred BSgoe8 Ko Sofyen, X- H8a» Y-ogre Jow Seeen

SHsm4ms ™, 6 ms 08 $OFon. wand, Ky |BSoP Ko Sy $Ood

3 HBsfreo :

L Ji7 ms™ 2 213 ms™

K’D/Jﬁ ms 4) % ms !
Rough Work
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87. A body is projected vertically upwards from the surface of the earth with a velocity
equal to half the escape velocity. If R is the radius of the earth, maximum height
attained by the body from the surface of the earth is :
e¥ SHHGH g ¢80 Kod), Foradd 3Ho® Ko Fo8® Dedewshoe
28 |80 W, ged mgbngai\: R wowd, 2o 86800 ol o
SHP Pod HBE O :

R R
(1) 8 (?)/g
2R
(3) 3 (4) R

88. The displacement of a particle executing SHM is given by :
¥y=5 sin(4t + E}_
3
If T is the time period and the mass of the particle is 2 gms, the kinetic energy

T
of the particle when t = 3 is given by :

(1) 0.4 Joules ((f;/o.ﬁ Joules

(3) 3 Joules 0.3 Joules

Jo¥ Soedys Jodo IRG ¥ I 5;5@’0@&0&
y=5 sin[4t + %]

T
& SrDousy). el GPecrsds weo T |$g0°% 2 gms oo, t = 7 ORI

Feed8 wod K= 48

(1) 0.4 &% (2) 0.5 ™%y
@) 3 @y 00/0.3 o))
Rough Work
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A )
If the ratio of lengths, radii and Young's moduli of steel and brass wires shown
in the figure are a, b and ¢ respectively, the ratio between the increase in lengths

of brass and steel wires would be :

$006® Wredhd k) Hoow agd 8de @wEy dHen, avga»u;en S8 08w
ol Hawe JHK oD a b HBa ¢ 08 SHIE reDoDIeows, =88
8tf T EHETD DHMSOETE, aly 86 JEHED DHMHSOSE MHEy Ko
Q&8 Jend

LU
Brass [ag &l

2kg
Steel (¢5))
2 kg

2 be
A @ —

DE LETED

2a>

be

4
(4) %

A soap bubble of radius r is blown up to form a bubble of radius 2r under isothermal
conditions. If T is the surface tension of soap solution, the energy spent in the
blowing :

a"é}a‘*da’):«.,rrie ef Say wod mgavdéiu 2r o &imre B ckﬁ‘u"iet‘
a&aéwé’s @sd . S | Sods 3&T@oaaé @ssewos® Z)S)éaa&:am
%8 :

(1) 3nTr> 6nTr?

METr

@) 12nTr
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91. Eight spherical rain drops of the same mass and radius are falling down with
a terminal speed of 6 em-s L. If they coalesce to form one big drop, what will
be the terminal speed of bigger drop ? (Neglect the buoyancy of the air)
el (B30, gl o 2DWE Fowd o3 O8 Dothapes 6 cm-s™! ©odg
3t508° (8088 S@HhTnon. ©I FOLITow B iy BE DomHB KR,
28 Dot wody S8 D08 wowed? (O wE S ¢ Hfosod):
() 1.5 cm-s' (2) 6cm-s

24 em-s™" (4) 32 cms™'

92. A clock pendulum made of invar has a period of 0.5 sec. at 20°C. If the clock is used
in a climate where the temperature averages to 30°C, how much time does the clock
lose in each oscillation ? (for invar, o.=9 x 10—7/"0, £ = constant)
8 68° QHES K&AGeEH S elo Gng). XY E oo 20°C $80.5 5%, FeStwnd
St ¢ZBHE 30°C waby $8D&E” & KB FEISHE, LYK 8oed”

08 6%\ woosd? (858 0:=9x 107/°C, g = RoroEn)
2.95 x 107% sec. 2) 25x1077 sec.
(3) 5 x 10_7 sec. 4) 1.125 x 1078 sec.

93. A piece of metal weighs 45 gms in air and 25 gms in a liquid of density

1.5 x ‘103kg-m_3 kept at 30°C. When the temperature of the liquid is raised
to 40°C, the metal piece weighs 27 gms. The density of liquid at 40°C is
1.25 x 10° kg—rnHa. The coefficient of linear expansion of metal is :
T0E” 45 gm w1 X w S EH Sy, 80°C FE do, JoFE
1.5 x 10°kg-m™ 50a (ES0E° 25 gm. Srrh&ed. ESH Gal|HES 40°C %
DoDSHE ST andy 27 gm e ErHS0s. 40°C & (SSH FoEE
1.25 x 10% kg-m ™ wond, %5 383 8% o ewds:

(1)  13x107°%°C (2) 5.2x107°,C 9/2.6 x 1073°C  (4) 0.26x107°rC

Rough Work
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94. Anideal gas is subjected to a cyclic process ABCD as depicted in the P-V diagram
given below :
808 aihs P-V maaoé'e SoodJeawre, wf sdl) o ABCD o Sfos
LmLsu«Jw eim 730..“
A B

? R
p C

D

Vv
—3
Which of the following curves represents the equivalent cyelic process ?

wond (8o T SEred® 28 2 S|8o (B8N KogdhHEod?

A ;- A b Ay B
1 ) ) ?
P v . P AR Y
D < D D S A
— T - T T=> T—>
® © )
NJ/A 2) B @) C (4) D

95. An ideal gas is subjected to a cyclic process involving four thermodynamic states;
the amounts of heat (Q) and work (W) involved in each of these states are :
Wi w68 aranedE JTeN® c‘am"ess' lae‘ie;g Ko of Sdct (B8 €%
{3MJ=CL ¥s w88 wé’Bé’s &5‘3 dnz Sugo (Q), S (W) & 808 Dore

T30 :
Ql = 6000 J, Qy = -5500 J; Qg = -3000 J; Q4 = 3500 J
W, = 2500 J; W, = 1000 J; W3 = -1200 J; W, = xJ.
The ratio of the net work done by the gas to the total heat absorbed by the
gas is M. The values of x and n respectively are :
T T G 508, ok FPdmo INHS IwEo ;8 Ho VD
W8 SrORH ©ond x HOah N dwgen SHISE :

(1)  500; 7.5% Moo; 10.5%
(3)  1000; 21% (4)  1500; 15%
Rough Work

3P



A E 2009 A

96. Two cylinders ‘A’ and ‘B’ fitted with pistons contain equal number of moles of
an ideal mono-atomic gas at 400 K. The piston of ‘A’ is free to move while that
of ‘B’ is held fixed. Same amount of heat energy is given to the gas in each
cylinder. If the rise in temperature of the gas in ‘A’ is 42 K, the rise in temperature
of the gas in ‘B’ is : (y = 5/3)
Sndo¥snes® DRoSwssS Tok K ddues ‘A 808 B ev 8308 Iy Ko
sE8) R BESroes ardSweded 400 K 95%5 FOAMNG . ‘A’ Bl Sodo¥se
edye $OodKe. B Giol). dnsoysn ?gdon“ Bhodwd aod &8 iesieodosd
TP ol Soarwd) af ¥8Q g A R TP G HESTD
2se 42 K vons ‘B’ *°2 arang &ﬁ;@éé’“ 2EHHE (y = 5/3)
(1) 21K (2) 35K

3) 42K (\u/?o K

97. Three rods of same dimensions have thermal conductivities 3 K, 2 K and K. They

are arranged as shown in the figure below :

8 e o dwedh $bo adSHS hevw 3K, 2K Hou K. 8ob swod®
SedSmr @ 5%@653 ‘23@3@ AT

7 50°C
L
100°c—38 T

NN °C

Then the temperature of the junction in steady state is :

Qoss ?g&é’a & Sob oS:

200 100
N/ 5 °C | @ —5- °C

50
(3) 75 °C 4) — °C

Rough Work
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Two sources A and B are sending notes of frequency 680 Hz. A listener moves from
A to B with a constant velocity ‘u’. If the speed of sound in air is 340 ms‘l, what
must be the value of ‘u’ so that he hears 10 beats per second ?

A 5005 B oF Got ¢ed sdwe TeNdsgo 680 Hz o Xeored S0k o an.
nE '8 LUDE Btio W & A %o B 8 SO0Honpd. 0 g Jo
340 ms™ wowd, (T°8 DEDHH 10 DoE e HIFoSSBIOR, U N GodSobS

aQends?

(1) 2.0 ms ®/2.5 m-s

@) 3.0 ms 4) 35 m-s’

_ Two identical piano wires have a fundamental frequency of 600 c/s when kept

under the same tension. What fractional increase in the tension of one wire will
lead to the occurrence of 6 beats per second when both wires vibrate
simultaneously ?

G0t BSyerSs Lo’ 8ok ed S5386° @oDSHE 600 c/s © FEY
P SeH ez HOA a I ow. Todk Sifen &3P0 FoDoDIHE DIHK 6 osaren
sloTSBI0®, of B N EIIEST 08 D&Y DHMHEY JaHSs?

(1 0.01 Xor” 0.02

3 0.03 (4) 0.04

Rough Work
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100. In the Young’s double slit experiment, the intensities at two points P and P,
on the screen are respectively I, and L. If P, is located at the centre of a bright
fringe and P, is located at a distance equal to a quarter of fringe width from
P, then I,/1, is :
aofi wow DO H@rHod®, BERE Todkh Bohepes Py &busn Py 88 w08
S S FnSre ) Soas I, Py $3850% sSeé oo $& so®, Py &Hod
£8 pound® SHorowdd JErSRE Srest Py aod. opd I/, s
N/‘Z (2) 12 3) 4 (4) 16

101. In Young's double slit experiment, the 10th maximum of wavelength A, is at
a distance of y; from the central maximum. When the wavelength of the source
is changed to Ay, 5th maximum is at a distance of y, from its central maximum.

il

2

abofl mow DO (SarHo6®, BoHE HBHo SHod y; Erdos”, E5oHBYgo

A 0‘52 10 <5 HBEE(O 3)6;)&}600&. AN ) édoﬁéc};gﬂ)& Ay 8§ SBFHE,

The ratio is :

N
5 & 55%0 'ﬁo@r‘ié ﬁﬂa;;o 00w Yo Sre8os® &U‘Dds&)o&. ®ons, [QJD&’QE

S
244 2hg A )i
Xo (2) % (3) o (4) 231

102. Four light sources produce the following four waves :
Treorh o8 eswer (808 ceenth Sforeos wdyo WRow

(@) y; = a sin (o + ¢;) () ¥y = a sin 20t
(iit)  yq = a' sin (wf + ¢y) (iv) y4 = a' sin (Bot + ¢)
Superposition of which two waves give rise to interference ?
(1) (i) and (i) (2 (i) and (iif)
. (1) and (iif) " (4) (i) and (iv)
wond & Tokh EGorre o@Egflnsn SgBESwEER) DN 0s?
(1) 1) S0 (it) (2) () S:00%0 (i)
( (i) S:80%0 (i) (4) (1) Sbas» (iv)
Rough Work
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108. The two lenses of an achromatic doublet should have :

(1) equal powers

(2)  equal dispersive powers

(3) , equal ratio of their power and dispersive power

V/ sum of the products of their power and dispersive power should be equal
to zero

LY 0d0Y cifg¥o Gy Todh SasroX :

(1) S &mc‘:gm B04S58

(2)  S&ry oy &&c;gw @od B

:i;/vd &mggm, D8 anas;ggme; N8 Sdredo TaB
e avasaggaﬁo. DR bva’nggo‘iue: oRsve Ingo HIPH Hardo
0SS

104. Two bar magnets A, B are placed one over the other and are allowed to vibrate

in a vibration magnetometer, They make 20 oscillations per minute when the
similar poles of A and B are on the same side, while they make 15 oscillations
per minute when their opposite poles lie 6n the same side. If M, and My are
the magnetic moments of A and B and if M, > My, the ratio of M, and My
18 :
Sot HSoagrahdryoecen A, B o e od2 SPEE @od JodS ©ohIdmo8
Sro5¥0E* Fododen BTH. A, Bo I8)¥ Goren 88 3H eI ©
A8 20 FoSarey Bk ow, ey 5383y |Gharen &8 3H Db,
©d AWaNE 15 Fodarer Il on. A, B o eoudrpol (grasees
M, 80w My ©8%0®, My > My wond, My 8csw My © 8, :

(1) 4:3 25 : 7
@ 7:5 (4) 25 :16
Rough Work
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105. A bar magnet of 10 em long is kept with its north (N)-pole pointing North. A

neutral point is formed at a distance of 15 cm from each pole. Given the horizontal
component of earth’s field is 0.4 Gauss, the pole strength of the magnet is :
10 em o 37EY Ko Soarabirodd o8y o ago B &vboiﬂ&gm
GoDTH. BoGabTFRosH wl, |oSo Sod 15 cm o SrEod® of soi
Do) ANEH08. r ohd)yo8 F ¥ s SSrodY ©o¥o 0.4 L ©wowd,
©oOIY08H) |GoSEEro Dend !

(1) © 9 amp-m (2) 6.756 amp-m

(3) 27 amp-m Nw)/13.5 amp-m

106.

An infinitely long thin straight wire has uniform linear charge density of

1
3 coul.m™*. Then the magnitude of the electric intensity at a point 18 cm away

is :
(given € = 8.8 x 1072 C¥N-m?)

e oSoEdS PEPH Ko BRHD 84 GoF) 2582 ThHov «I¥ Jowd

1 ~1
3 coulm™. wond, o*d Si0d 18 em ErEod® @y Dothsh S8 degs F¥

858 65mwo :
(€o = 8.8 x 1072 C¥N-m® ©%8%08)
(x)/ 0.33 x 10! NC! @ 38 x 10" NC™

0.66 x 10" NC! 4) 1.32 x 10" NC!

Rough Work
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.107. Two point charges —q and +g are located at points (0, 0, —a) and (0, 0, a) respectively.
The electric potential at a point (0, 0, z), where z > a is :
Todh Dok edwren —g Sbaku +9 @3 SHSor (0, 0, —a) Hoa (0, 0, a) Do&ssHe
afcg aIon. 2 > a wona Doy (0, 0, 2) 5&3 56&:85 '33“2:;’30&15 Dend

o’ qa q
-y @ Trea
@/‘ 2qa 2qa
4 ney (2% -a?) @ 4ney 2 +ad)

108, In the circuit shown below, a voltmeter of internal resistance R, when connected

100
across B and C reads W volts. Neglecting the internal resistance of the battery,

the value of R is :

Bo& Srds Soabed® R @oé’ﬂa&sdﬁo Ko :S"é‘ibm&ﬁ: B &80 C o &3
100
edhdogrso s ©b —5— See BBold SrOH08. Erged ©o8Y FEe

4o, R dens :

50 kQ

Ll
100 V 5 B

—

50 kQ

(1) 100 kQ (2) 75 kQ

¥ 50 ko (4) 25 kQ

Rough Work
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109. A cell in secondary circuit gives null deflection for 2.5 m length of potentiometer
having 10 m length of wire. If the length of the potentiometer wire is increased
by 1 m without changing the cell in the primary, the position of the null point
now is :

85 &g 10 m Ko o E?J"E:Sgdﬁb D6 o Souhd HPoo 25 m
S8 Wrdy oSSR 8% od. (FEDE Sodod D Pardy SrhHioae, VLI
b 86 PEHE 1 m Bodd, sPpd Bo¥y Doked a;;&a’m :

(1) 35m (2) 3m

(8/2.75 m (4) 20 m

110. The following series L-C-R circuit, when driven by an e.m.f. source of angular
frequency 70 kilo-radians per second, the circuit effectively behaves like :
$o6 L-C-R @ Jootrd) §%dlon PSpsge 70 86° JaavSHRes e
Dguel we 2S5508° w=ddo JHIHE, & Sodho (Seeardysore (Sobd
Sodbo I8 X8 0b

100pH  1pF 10 Q
———0—— | WWA
®_
(1) urely resistive circuit (2) series R-L circuit
] series R—C circuit (4) series L—C circuit with R = 0
(1) ®dore R @&y Sodbo (2) @ R-L Soodo
@ R-C Socho (4) R =0 iy @8 L-C Joabo
Rough Work
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111. A wire of length 7 is bent into a eircular loop of radius R and carries a current
I. The magnetic field at the centre of the loop is ‘B’. The same wire is now bent
into a double loop of equal radii. If both loops carry the same current I and
it is in the same direction, the magnetic field at the centre of the double loop
will be :

s T o 86 mg@“go R 8o e SoD e, eRE® S 8y ae e
I. 63@3'50@50 S8 wdhdyes Ao B. ad88% gpd SSr8 mgéﬁc:w e
Sty e Sodeetd. G Todkh Hwed® vl AmgEHeEean [ed 8496
4o & ey :SJ%JTE?O@SO I wohIn 08 FEsn
(1) ero (o) (2) 2B

4 B (4) 8B

112, An infinitely long straight conductor is bent into the shape as shown below. It
carries a current of i Amps and the radius of the circular loop is R metres. Then

the magnitude of magnetic induction at the centre of the circular loop is :

oJodDS WGP Ko BRI sFrwd) fod HrdS TS SodT®n.
@G Ay EyaeSTSn [ Amp. &) Syes sy ALY a"g&g‘&: R eﬁ:e.;c& sond
Sy g e JoWo JE whIes ohose SoSeosy

> >
Bae poni
(1) 2nR (2) 9R
e Wi
L LA L |
@)/21111 (m+1) (4) onR (m—1)
Rough Work
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113. The work function of a certain metal is 3.31 x 107*® J. Then the maximum kinetic
energy of photoelectrons emitted by incident radiation of wavelength 5000 A

151

L 5% BV |HFoPhsn Jesd 3.31 x 1072 J. soox g:‘_e;go 5000 A
to 280wo o3 d8J0 TodIHD aarmdhy PE° Jowhe HOA 8 ¥4 :

(given h = 6.62 x 103 J-s, C = 3 x 10° ms™,, ¢ = 1.6 x 107 coul.)

(1) 248 eV Wl eV

3) 207 eV (4) 0.82 eV

114. A photon of energy ‘E’ ejects a photoelectron from a metal surface whose work

function is Wy,. If this electron enters into a uniform magnetic field of induction
- ‘B’ in a direction perpendicular to the field and describes.l a circular path of radius

r’, then the radius ‘7’ is given by, (in the usual notation) :

S (Pdovo Wy o o %58 alddeo Kod, ¥8 F Ho Pers, of eg’

QoSS &R0 W08, & 0TS, BB aF) eI 08 F vhariro B’

&8 wowd¥s® ($B%0D 7 TFrTo o HHeused SerRy HHEd wond a“'gﬁﬁ“go

7 Jend, (Foede éo’éa‘é'f‘):

2m(E - W,
(1) mT — gl (2) J2m (E —Wp)eB
eB
& J2e(E — Wy) M/,/Qm(E~WD)
’ mB eB

Rough Work
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115. The radioactivity of;l sample is X’ at a time ;" and Y’ at a time ‘%,". If the
mean life time of the specimen is ‘7', the number of atoms that have disintegrated
in the time interval (¢, — £,) is :
af Y oe Gl 3&&3&5@56 oo 'ty §&§ X, ooty S Y & Jareoe
Sl S £d¥ oo T wond, (t) = t3) oo o‘SSu‘S@eS'B APwso BodY

SoSrmPHe Sopg -

(1) Xz‘l - YEQ 2) X -Y
X-Y
® = W X - Yy

116. Currents flowing in each of the following circuits A and B respectively are :

Bods Srdd Soalres A, Beod® af% 506" $54rod g garster SthIme:

4Q 40Q
4Q 4Q
L i
V
( Cigcuit A) ( Cir{gc};it B)
(1) 1A 2A 2 2A 1A

w/4A,2A 4 2A 4A

Rough Work
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117. A bullet of mass 0.02 kg travelling horizontally with velocity 250 ms ' strikes
a block of wood of mass 0.23 kg which rests on a rough horizontal surface. After
the impact, the block and bullet move together and come to rest after travelling
a distance of 40 m. The coefficient of sliding friction of the rough surface is :

(@ =98 ms™)

0.02 kg ($550°8 o el Hoth §8s SSredY 6YE® 2650 ms T Stfo8® |Sasedir

L HES Soo o) 023 kg BSgoe8 Ho 3F. AN 45780 oBgrdo
Stoard od, B Ay HOL KON oo 40 m. Srdo (Sardod Ve
RBEES ST © HEO% Soo G e hwso : g = 9.8 ms?)

[

(L 0.75 (2) 061

(3)/ 0.51 (4) 0.30

118. Two persons A and B are located in X — Y plane at the points (0, 0) and

(0, 10) respectively. (The distances are measured in MKS units). At a time
t = 0, they start moving simultaneously with velocities 7, = 2jm/s and
Uy = 20 m/s respectively. The time after which A and B are at their closest

distance is :
l\/:ﬁ sec. (2) 4 sec.

10
(3) 1 sec. (4) 'E sec.

Doddpes (0, 0) bose (0, 10) © sSCQS SER e adgdc SgSen A Sbaw B ex
X-Y 8006® s, (&roros: MKS L&Mmé’: o).t =0, 58 &80
& Gith SHIT e Ty =2jm/s HO Ty = 2 m/s©8° SDoswo oD,
e;u.,./%g( Sodoreo SKNIE A B o S gdrdo 53{% SaghHéood

2

( 851 EELES (2) 4 7’03’:5;’)
10
(3 17285 (4) ﬁ [CELS
Rough Work
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119. A rod of length / is held vertically statiénary with its lower end located at a
point ‘P’, on the horizontal plane. When the rod is released to topple about ‘P,
the velocity of the upper end of the rod with which it hits the ground is :
FEP [ o §EA, o= 808 §°F 8z I&rosE Hoodd ef Do PIY
REyworr ﬁoééuew RendHe Gol e, 5&33 Do) P’ Storr SBwenre SO 5S°,

e 2EE grdd SK508° ee&08?

(1) £ A?)/I;gl

8 38
3|8 26,
(3) ! (4) /

120. A wheel of radius 0.4 m can rotate freely about its axis as shown in the figure.
A string is wrapped over its rim and a mass of 4 kg is hung. An angular acceleration
of 8 rad-s ™~ is produced in it due to the torque. Then moment of inertia of the
wheel is : g =10 ms )

(Bod Hwod® HrebIerr, Fgdan 04 m o So SPo o effo Jow
e | Fod Sen('béao& @ oW &e.au w8 aPoeQ) ﬁ)é?l 4kgo BSgoe8
Ferd8bore. ey So dF® 8 TSN S X esgo’maiu 663:5&65.:&»&3

SEH wEsy Lt’,I“o‘b;S’SSJJ : (g = 10 ms™ )
\b4kg
1) 2 kg-m® 2 1 kg-m®
3) 4 kg-m® (4) 8 kg-m?
Rough Work
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